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1. FHEFERNA
O FHABSFEERINA 8,000 7,000 1,000
Fe AR EERI B A 8,000 7,000 1,000
@ ®HEEEEANA 9,000 11,000 A2,000
B H A EER R A 0 1,000 A1,000
HEEEEMEBIRA 9,000 10,000 A1,000
@ SEFRA 87,000 91,000 A4,000
BEWERESERA 87,000 91,000 A4,000
@ fHBh&ESImA 4,431,000 3,897,000 534,000
&I A 2,243,000 1,361,000 882,000
BRI A 2,188,000 2,536,000 348,000
® el A 1,490,000 1,093,000 397,000
FEAHSZA 1,490,000 1,093,000 397,000
HMEILA 0 1,000 A1,000
A HCHLBAR A 0 1,000 AT1,000
FEFBIRAE 6,025,000 5,100,000 925,000
2. BHETEITH
D FEEXH 5,919,000 4,727,000 1,192,000
BETEFTH 359,000 130,000 229,000
ko 3,667,000 2,414,000 1,253,000
SZREEEXH 1,893,000 2,183,000 /290,000
@ EEBIH 352,000 470,000 A118,000
EEE 352,000 470,000 A118,000
(RYEEFLSZHD (62,000) (86,000) (A24,000)
HEEEI R HE 6,271,000 5,197,000 1,074,000
HETTRI S 24R /A246,000 97,000 /149,000
I BREFIRZOE
1. RETHFEIA
O HEEERBRNA 351,000 110,000 241,000
MR SUE R 61,000 100,000 /39,000
iR E E U A 90,000 10,000 80,000
B ) YE R S L T PE B R A 200,000 0 200,000
BEEEIR A 351,000 110,000 241,000
2. BWEFEEHETH
O FEEEEmRAXH 12,000 13,000 A1,000
BRAGAT  ME ERRETH 12,000 13,000 41,000
@ BEEEERAEH 3,000 0 3,000
T.EzR EfEREEA 3,000 0 3,000
WETEE Z HE 15,000 13,000 2,000
BEEE T =5 336,000 97,000 239,000
Il BARETE BN DR
M ETEBIIN =R 0 0 0
IV FERZH 0 0 0
LRI X EHR 90,000 0 90,000
BT ERRRIR I = 24 1,688,000 1,688,000 0
WHASR R I 2R 1,778,000 1,688,000 90,000
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1. BREHERO%R
(1) R BN ZE
DEAMEEAL 0 — —_
2204 P 52 UFILB, 0 — —
O EREER L 17,000 — —
e E T E A ORI R 17,000 — —
@=RoE 87,000 — —
EhoBENeE 87,000 — —
D= HfBh &% 4,431,000 — —
EHMA@EE 2,243,000 — —
) G A 2,188,000 —_ —
OFHAaEE 1,490,000 — —
EMERAEEE 1,490,000 — —
MEN 2% 0 —_ —
e 0 — —
B EIN IR F 6,025,000 — —
QYREEM
DEXE 7,566,000 — —
N 1,327,000 — —
HmENE 1,664,000 — —
ErEE 270,000 — —
Pt Vi S 701,000 — —
EHE 768,000 — —
bk g 2,836,000 — —
OEHEE 376,000 — —
NE# 102,000 — —
HE55| Y& A 4,000 — —
IR A 12,000 — —
T EHNE 13,000 — —
FBLAER 63,000 — —
AR O B 59,000 — —
MR 123,000 — —
(PITHZEBL) (62,000) — —
R R R 7,042,000 — —
PR 22 P B 2 1A R A AR 1,917,000 — —
REG ML TR AT 0 — —
LHIRR AR /51,017,000 — —
2. B SLHBERDES
(1) BE /UL
OE & JETHIE 0
RE N EF 0 — —
(2) R Ea &
OEEEERAE 0
D R ) 0
EEI R 0 — —
o AR S TR 0 — —
&R 0 — —
0 HH — MY T R B REIE AR /1,917,000 — —
— R IERESHRR 9,793,000 — —
— R ERMENRERR 7,876,000 — —
I 85t ERRERROH i
AR T 0 — —
W HAHS 2 1E Bk R PEHE DR AR 0 — —
HEEKRMEHERR 0 — j—
HBEERMENFRRS | 0 — —
I JEBKBI BRI R RS 7,876,000 — — |
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